

GENERALIZED HÖLDER-LIKE INEQUALITIES

FATHI SAIDI AND RAHMAN YOUNIS

ABSTRACT. Let $n \geq 2$ be a fixed integer, and let M be a one-to-one function. For a real number α , we define

$$R_{\alpha, M} = \left\{ \mathbf{x} = (x_1, x_2, \dots, x_n) : x_1 > 0, \right. \\
 (x_i/x_1) \in \text{Domain}(M), i = 2, \dots, n \text{ and} \\
 \left. \left[\alpha - \sum_{i=2}^n M(x_i/x_1) \right] \in \text{Range}(M) \right\}.$$

For $\mathbf{x} \in R_{\alpha, M}$ we define $\Phi_{\alpha, M}(\mathbf{x}) = \mathbf{x}_1 \mathbf{M}^{-1} \left[\alpha - \sum_{i=2}^n \mathbf{M}(x_i/x_1) \right]$. Several inequalities are presented for $\Phi_{\alpha, M}$. As special cases, these inequalities recover many known "Hölder-like" inequalities.

1. Introduction. Let $n \geq 2$ be a fixed integer, and let \mathbf{R} denote the set of all real numbers. Let $a_i, b_i \in \mathbf{R}$, $i = 1, 2, \dots, n$, be such that $a_1^2 - \sum_{i=2}^n a_i^2 \geq 0$ and $b_1^2 - \sum_{i=2}^n b_i^2 \geq 0$. Then in [1] it was shown that

$$(1.1) \quad \left(a_1^2 - \sum_{i=2}^n a_i^2 \right)^{1/2} \left(b_1^2 - \sum_{i=2}^n b_i^2 \right)^{1/2} \leq a_1 b_1 - \sum_{i=2}^n a_i b_i.$$

Inequality (1.1) was generalized by Popoviciu in [8] and by Bellman in [3] as follows. Let $p > 1$, $(1/p) + (1/q) = 1$, $a_i, b_i \geq 0$, $i = 1, 2, \dots, n$, with $a_1^p - \sum_{i=2}^n a_i^p \geq 0$, and $b_1^q - \sum_{i=2}^n b_i^q \geq 0$. Then

$$(1.2) \quad \left(a_1^p - \sum_{i=2}^n a_i^p \right)^{1/p} \left(b_1^q - \sum_{i=2}^n b_i^q \right)^{1/q} \leq a_1 b_1 - \sum_{i=2}^n a_i b_i.$$

This is the "Hölder-like" generalization of (1.1). In [9] there is a very simple proof of (1.2) for $p > 1$ and the inverse inequality for $p < 1$ is given. Also, Chapter 5 in [7] contains generalizations of (1.2).

Received by the editors on September 15, 1997, and in revised form on February 9, 1998.

In [4], Bjelica showed that if $a_1^p - \sum_{i=2}^n a_i^p \geq 0$ and $b_1^p - \sum_{i=2}^n b_i^p \geq 0$, then, for $0 < p \leq 2$,

$$(1.3) \quad \left(a_1^p - \sum_{i=2}^n a_i^p \right)^{1/p} \left(b_1^p - \sum_{i=2}^n b_i^p \right)^{1/p} \leq a_1 b_1 - \sum_{i=2}^n a_i b_i.$$

For a fixed integer $n \geq 2$, the authors in [6] introduced the following definition. For a nonzero number $p \in \mathbf{R}$, let

$$\phi_p(\mathbf{x}) = \left(x_1^p - \sum_{i=2}^n x_i^p \right)^{1/p}, \quad \mathbf{x} \in R_p,$$

where

$$R_p = \left\{ \mathbf{x} = (x_1, x_2, \dots, x_n) : x_i \geq 0 (i = 1, 2, \dots, n), x_1^p \geq \sum_{i=2}^n x_i^p \right\}$$

if $p > 0$

and

$$R_p = \left\{ \mathbf{x} = (x_1, x_2, \dots, x_n) : x_i > 0 (i = 1, 2, \dots, n), x_1^p > \sum_{i=2}^n x_i^p \right\}$$

if $p < 0$.

There they presented three inequalities for ϕ_p from which they deduced, among other things, the inequalities (1.1), (1.2) and (1.3).

Throughout this paper we use the following notations. Let M be a one-to-one function whose domain is a subset of the set of real numbers \mathbf{R} . For $\alpha \in \mathbf{R}$, we define

$$R_{\alpha, M} = \left\{ \begin{array}{l} \mathbf{x} = (x_1, x_2, \dots, x_n) : x_1 > 0, (x_i/x_1) \in \text{Domain}(M) \\ (i = 2, \dots, n) \\ \text{and } [\alpha - \sum_{i=2}^n M(x_i/x_1)] \in \text{Range}(M) \end{array} \right.$$

and, for $\mathbf{x} \in R_{\alpha, M}$, we define

$$\Phi_{\alpha, M}(\mathbf{x}) = x_1 M^{-1} \left[\alpha - \sum_{i=2}^n M \left(\frac{x_i}{x_1} \right) \right].$$

In Section 2 we present an inequality involving Orlicz functions, Theorem 1, from which we deduce Popoviciu's theorem [8]. In Section 3, we give a general inequality, Theorem 3, which can be used to obtain several known inequalities in [6]. In Section 4 we present a comparison theorem that generalizes Theorem 1 in [6], and we also give a generalization of Bjelica's result in [4].

2. Orlicz functions. The introduction of Orlicz functions has been inspired by the obvious role played by the functions t^p in the definition of the l_p spaces.

An Orlicz function M is a continuous strictly increasing and convex function defined on $[0, \infty)$ such that $\lim_{t \rightarrow 0^+} (M(t)/t) = 0$ and $\lim_{t \rightarrow \infty} (M(t)/t) = \infty$. For an Orlicz function M , the function $M^*(s) = \sup_{0 < t < \infty} \{st - M(t)\}$, $0 \leq s < \infty$, is called the function complementary to M . For example, if $M(t) = (t^p/p)$, $p > 1$, then $M^*(s) = (s^q/q)$, where $(1/p) + (1/q) = 1$. It is clear from the definition of M^* that, for any $t, s \geq 0$, we have the so-called Young's inequality, namely,

$$(2.1) \quad ts \leq M(t) + M^*(s),$$

where equality holds if and only if $s = M'_+(t)$, M'_+ being the right derivative of M . Convenient references for Orlicz functions and Orlicz spaces can be found in [2, Chapter 8] and [5, Chapter 4].

Our first theorem is a generalization of the inequality (1.2).

Theorem 1. *Let M be an Orlicz function, and let α and β be positive real numbers. Then for $\mathbf{x} = (x_1, x_2, \dots, x_n) \in R_{\alpha, M}$ and $\mathbf{y} = (y_1, y_2, \dots, y_n) \in R_{\beta, M^*}$ we have*

$$\Phi_{\alpha, M}(\mathbf{x})\Phi_{\beta, M^*}(\mathbf{y}) \leq (\alpha + \beta)x_1y_1 - \sum_{i=2}^n x_iy_i.$$

Proof. By applying Young's inequality (2.1) with $t = (\Phi_{\alpha, M}(\mathbf{x})/x_1)$

and $s = (\Phi_{\beta, M^*}(\mathbf{y})/y_1)$, we get that

$$\begin{aligned} & \Phi_{\alpha, M}(\mathbf{x})\Phi_{\beta, M^*}(\mathbf{y}) \\ & \leq x_1 y_1 \left[\alpha - \sum_{i=2}^n M\left(\frac{x_i}{x_1}\right) \right] + x_1 y_1 \left[\beta - \sum_{i=2}^n M^*\left(\frac{y_i}{y_1}\right) \right] \\ & = (\alpha + \beta)x_1 y_1 - x_1 y_1 \sum_{i=2}^n \left(M\left(\frac{x_i}{x_1}\right) + M^*\left(\frac{y_i}{y_1}\right) \right). \end{aligned}$$

Since again, by Young's inequality (2.1) we have

$$M\left(\frac{x_i}{x_1}\right) + M^*\left(\frac{y_i}{y_1}\right) \geq \frac{x_i y_i}{x_1 y_1},$$

then we obtain

$$\Phi_{\alpha, M}(\mathbf{x})\Phi_{\beta, M^*}(\mathbf{y}) \leq (\alpha + \beta)x_1 y_1 - \sum_{i=2}^n x_i y_i,$$

as required. This completes the proof of Theorem 1. \square

The following corollary is Popoviciu's theorem [8], which is inequality (1.2).

Corollary 2. *Let $p, q \in (1, \infty)$, $(1/p) + (1/q) = 1$, and let $x_i, y_i \geq 0$, $i = 1, 2, \dots, n$, with $x_1^p - \sum_{i=2}^n x_i^p \geq 0$ and $y_1^q - \sum_{i=2}^n y_i^q \geq 0$. Then*

$$\left(x_1^p - \sum_{i=2}^n x_i^p \right)^{1/p} \left(y_1^q - \sum_{i=2}^n y_i^q \right)^{1/q} \leq x_1 y_1 - \sum_{i=2}^n x_i y_i.$$

Proof. Let $M(t) = (t^p/p)$, $t \in [0, \infty)$. Then $M^*(t) = (t^q/q)$, $t \in [0, \infty)$. The assumptions imply that $(x_1, x_2, \dots, x_n) \in R_{(1/p), M}$ and $(y_1, y_2, \dots, y_n) \in R_{(1/q), M^*}$. Now we apply Theorem 1 with $\alpha = (1/p)$ and $\beta = (1/q)$ to get the required inequality. This completes the proof of Corollary 2. \square

3. Inequalities involving monotonic functions. In this section we present general inequalities involving one-to-one functions. These inequalities can be used to recover many known inequalities.

Theorem 3. *Let M_1, M_2, \dots, M_m be one-to-one real-valued functions defined in \mathbf{R} , and let $\sigma_1, \sigma_2, \dots, \sigma_m$ be fixed real numbers. Then we have*

(i) *If*

$$(3.1) \quad t_1 t_2 \cdots t_m \leq \sigma_1 M_1(t_1) + \sigma_2 M_2(t_2) + \cdots + \sigma_m M_m(t_m)$$

for all $t_k \in \text{Domain}(M_k)$, $k = 1, 2, \dots, m$, then

$$(3.2) \quad \prod_{k=1}^m \Phi_{\alpha_k, M_k}(\mathbf{x}_k) \leq (\sigma_1 \alpha_1 + \sigma_2 \alpha_2 + \cdots + \sigma_m \alpha_m) x_{11} \cdots x_{m1} - \sum_{i=2}^n (x_{1i} \cdots x_{mi})$$

for all $\alpha_k \in \mathbf{R}$ satisfying $R_{\alpha_k, M_k} \neq \emptyset$ and all $\mathbf{x}_k \in R_{\alpha_k, M_k}$, $k = 1, \dots, m$.

(ii) *If*

$$(3.3) \quad t_1 t_2 \cdots t_m \geq \sigma_1 M_1(t_1) + \sigma_2 M_2(t_2) + \cdots + \sigma_m M_m(t_m)$$

for all $t_k \in \text{Domain}(M_k)$, $k = 1, 2, \dots, m$, then

$$(3.4) \quad \prod_{k=1}^m \Phi_{\alpha_k, M_k}(\mathbf{x}_k) \geq (\sigma_1 \alpha_1 + \sigma_2 \alpha_2 + \cdots + \sigma_m \alpha_m) x_{11} \cdots x_{m1} - \sum_{i=2}^n (x_{1i} \cdots x_{mi})$$

for all $\alpha_k \in \mathbf{R}$ satisfying $R_{\alpha_k, M_k} \neq \emptyset$ and all $\mathbf{x}_k \in R_{\alpha_k, M_k}$, $k = 1, \dots, m$.

Proof. First let us prove part (i). Using (3.1), we get

$$\begin{aligned}
 & \prod_{k=1}^m x_{k1} M_k^{-1} \left[\alpha_k - \sum_{i=2}^n M_k \left(\frac{x_{ki}}{x_{k1}} \right) \right] \\
 &= \left(\prod_{k=1}^m x_{k1} \right) \prod_{k=1}^m M_k^{-1} \left[\alpha_k - \sum_{i=2}^n M_k \left(\frac{x_{ki}}{x_{k1}} \right) \right] \\
 &\leq \left(\prod_{k=1}^m x_{k1} \right) \left\{ \sum_{k=1}^m \sigma_k \left[\alpha_k - \sum_{i=2}^n M_k \left(\frac{x_{ki}}{x_{k1}} \right) \right] \right\} \\
 &= \left(\prod_{k=1}^m x_{k1} \right) \left[\sum_{k=1}^m \sigma_k \alpha_k - \sum_{i=2}^n \sum_{k=1}^m \sigma_k M_k \left(\frac{x_{ki}}{x_{k1}} \right) \right] \\
 &\leq \left(\prod_{k=1}^m x_{k1} \right) \left[\sum_{k=1}^m \sigma_k \alpha_k - \sum_{i=2}^n \prod_{k=1}^m \left(\frac{x_{ki}}{x_{k1}} \right) \right] \\
 &= \left(\sum_{k=1}^m \sigma_k \alpha_k \right) \prod_{k=1}^m x_{k1} - \sum_{i=2}^n \left(\prod_{k=1}^m x_{ki} \right).
 \end{aligned}$$

This completes the proof of part (i). Similarly we obtain the proof of part (ii). \square

Before we give some consequences of Theorem 1, we first mention the following lemma. The referee brought to our attention that this lemma recently appeared in [10].

Lemma 4. *Let p_1, p_2, \dots, p_m be real numbers such that $(1/p_1) + (1/p_2) + \dots + (1/p_m) = 1$, $m \geq 2$. Then*

$$(3.5) \quad t_1 t_2 \cdots t_m \geq \frac{t_1^{p_1}}{p_1} + \frac{t_2^{p_2}}{p_2} + \cdots + \frac{t_m^{p_m}}{p_m} \quad \text{for all } t_i > 0, \quad i = 1, \dots, m,$$

if and only if all p_i 's are negative except for exactly one of them.

Proof. Suppose that all p_i 's are negative except for exactly one of them, say $p_m > 0$. Let $z_i = (1/t_i^{p_i})$, $i = 1, 2, \dots, m-1$, and let $z_m = t_1^{p_1} t_2^{p_2} \cdots t_m^{p_m}$. Also, let $q_i = |p_i|/p_m$, $i = 1, 2, \dots, m-1$ and

$q_m = (1/p_m)$. Then all the q_i 's are positive and

$$\begin{aligned} \sum_{i=1}^m \frac{1}{q_i} &= -\frac{p_m}{p_1} - \dots - \frac{p_m}{p_{m-1}} + p_m \\ &= p_m \left(1 - \frac{1}{p_1} - \dots - \frac{1}{p_m} \right) \\ &= p_m \left(\frac{1}{p_m} \right) = 1. \end{aligned}$$

Hence we may apply the well-known inequality

$$(3.6) \quad x_1 x_2 \cdots x_m \leq \frac{x_1^{q_1}}{q_1} + \cdots + \frac{x_m^{q_m}}{q_m}, \quad x_i \geq 0, \quad i = 1, 2, \dots, m,$$

to get that $z_1 z_2 \cdots z_m \leq (z_1^{q_1}/q_1) + \cdots + (z_m^{q_m}/q_m)$. This gives

$$t_m^{p_m} \leq -\frac{p_m}{p_1} t_1^{p_1} - \dots - \frac{p_m}{p_{m-1}} t_{m-1}^{p_{m-1}} + p_m t_1 t_2 \cdots t_m.$$

Therefore after rearranging and dividing by p_m , we get that

$$t_1 t_2 \cdots t_m \geq \frac{t_1^{p_1}}{p_1} + \cdots + \frac{t_m^{p_m}}{p_m}.$$

Conversely, suppose that (3.5) holds. Then by (3.6) at least one of the p_i 's must be negative. Since $\sum_{i=1}^m (1/p_i) = 1$, then clearly one of the p_i 's is positive. Suppose that there exist at least two positive p_i 's and at least one negative p_i , say $p_1, p_2, \dots, p_k > 0$ and $p_{k+1}, \dots, p_m < 0$, where $2 \leq k < m$. Let $A(t_1, \dots, t_m) = t_1 t_2 \cdots t_m$ and $B(t_1, \dots, t_m) = (t_1^{p_1}/p_1) + \cdots + (t_m^{p_m}/p_m)$. For $r > 0$, we have

$$A\left(r^{k-1}, \frac{1}{r}, \dots, \frac{1}{r}, \overbrace{1}^{(k+1)st \text{ term}}, \dots, 1\right) = 1$$

and

$$\begin{aligned} B\left(r^{k-1}, \frac{1}{r}, \dots, \frac{1}{r}, \overbrace{1}^{(k+1)st \text{ term}}, \dots, 1\right) \\ = \frac{r^{p_1(k-1)}}{p_1} + \frac{1}{p_2 r^{p_2}} + \cdots + \frac{1}{p_{k+1}} + \cdots + \frac{1}{p_m} \rightarrow \infty \end{aligned}$$

as $r \rightarrow \infty$ because $\lim_{r \rightarrow \infty} (r^{p_1(k-1)}/p_1) = \infty$. Thus, for r large enough, we have

$$A\left(r^{k-1}, \frac{1}{r}, \dots, \frac{1}{r}, 1, \dots, 1\right) < B\left(r^{k-1}, \frac{1}{r}, \dots, \frac{1}{r}, 1, \dots, 1\right).$$

This contradiction with (3.5) completes the proof of the lemma.

The following result appears in Corollary 1 in [6].

Corollary 5. *Let p_1, p_2, \dots, p_m be real numbers such that $(1/p_1) + \dots + (1/p_m) = 1$, $m \geq 2$. Then*

(i) *If all p_i 's are negative except for exactly one of them, then we have*

$$\prod_{k=1}^m \Phi_{1,t^{p_k}}(\mathbf{x}_k) \geq \Phi_{1,t}(\mathbf{x}_1 \mathbf{x}_2 \cdots \mathbf{x}_m)$$

for all $\mathbf{x}_k \in R_{1,t^{p_k}}$, $k = 1, 2, \dots, m$.

(ii) *If all p_i 's are positive, then*

$$\prod_{k=1}^m \Phi_{1,t^{p_k}}(\mathbf{x}_k) \leq \Phi_{1,t}(\mathbf{x}_1 \mathbf{x}_2 \cdots \mathbf{x}_m)$$

for all $\mathbf{x}_k \in R_{1,t^{p_k}}$, $k = 1, 2, \dots, m$, where

$$\mathbf{x}_1 \mathbf{x}_2 \cdots \mathbf{x}_m = (x_{11} \cdots x_{m1}, \dots, x_{1n} \cdots x_{mn}).$$

Proof. (i) Suppose that all p_i 's are negative except for exactly one of them. Then inequality (3.5) holds. For each $k \in \{1, \dots, m\}$, let $\alpha_k = 1$, $\sigma_k = (1/p_k)$, and let $M_k(t) = t^{p_k}$, $t \in (0, \infty)$. Then (3.3) becomes (3.5) and consequently (3.3) holds. Now applying Theorem 3 (ii) we get

$$\prod_{k=1}^m \Phi_{1,t^{p_k}}(\mathbf{x}_k) \geq \Phi_{1,t}(\mathbf{x}_1 \mathbf{x}_2 \cdots \mathbf{x}_m)$$

for all $\mathbf{x}_k \in R_{1,t^{p_k}}$, $k = 1, 2, \dots, m$.

(ii) Suppose that all p_i 's are positive. Then (3.6) holds. For each $k \in \{1, \dots, m\}$, let $\alpha_k = 1$, $\sigma_k = (1/p_k)$, and let $M_k(t) = t^{p_k}$, $t \in [0, \infty)$. Then (3.1) becomes (3.6) and consequently (3.1) holds. Hence we may apply Theorem 3 (i) to get that $\prod_{k=1}^m \Phi_{1, t^{p_k}}(\mathbf{x}_k) \leq \Phi_{1, t}(\mathbf{x}_1 \mathbf{x}_2 \cdots \mathbf{x}_m)$ for all $\mathbf{x}_k \in R_{1, t^{p_k}}$, $k = 1, 2, \dots, m$.

Lemma 6. *Let M be a strictly increasing continuous function defined on $[0, \infty)$ with $M(0) = 0$ and $M(\infty) = \infty$. For each $s \in (0, \infty)$, let $\tilde{M}(s) = \max_{t \in (0, \infty)} \{M(t) - st\}$ be well defined. Then \tilde{M} is continuous, strictly decreasing and $\text{Range}(\tilde{M}) = (0, \infty)$.*

Proof. We divide the proof into three steps.

Step 1. \tilde{M} is strictly decreasing on $(0, \infty)$.

By the definition of \tilde{M} , we have, for each $s \in (0, \infty)$, $\tilde{M}(s) = M(t_s) - st_s$ for some $t_s \in (0, \infty)$. Now let $s_1, s_0 \in (0, \infty)$. Now using the definition of \tilde{M} , we get

$$\begin{aligned}
 \tilde{M}(s_1) + (s_1 - s_0)t_{s_1} &= M(t_{s_1}) - s_1 t_{s_1} + (s_1 - s_0)t_{s_1} \\
 &= M(t_{s_1}) - s_0 t_{s_1} \\
 (3.7) \qquad \qquad \qquad &\leq \tilde{M}(s_0) = M(t_{s_0}) - s_0 t_{s_0} \\
 &= M(t_{s_0}) - s_1 t_{s_0} + (s_1 - s_0)t_{s_0} \\
 &\leq \tilde{M}(s_1) + (s_1 - s_0)t_{s_0}.
 \end{aligned}$$

If $0 < s_0 < s_1 < \infty$, then the first inequality in (3.7) gives $\tilde{M}(s_1) < \tilde{M}(s_0)$, which completes the proof of Step 1.

Step 2. \tilde{M} is continuous on $(0, \infty)$.

Let $s_0 \in (0, \infty)$ be fixed. From (3.7) we get, for each $s \in (0, \infty)$,

$$(3.8) \qquad |\tilde{M}(s) - \tilde{M}(s_0)| \leq \max(t_s, t_{s_0})|s - s_0|.$$

Let $s_1 \in (0, s_0)$ be a fixed number. By comparing the first and last term in (3.7) we obtain that $t_{s_0} \leq t_{s_1}$ and, in a similar way, that $t_s \leq t_{s_1}$ for all $s > s_1$. This with (3.8) implies that $|\tilde{M}(s) - \tilde{M}(s_0)| \leq t_{s_1}|s - s_0|$ if s is close enough to s_0 . Consequently, \tilde{M} is continuous at s_0 , and hence this completes the proof of Step 2.

Step 3. $\text{Range}(\tilde{M}) = (0, \infty)$.

First let us show that $\lim_{s \rightarrow 0^+} \tilde{M}(s) = \infty$. For each $t \in (0, \infty)$, we have $\tilde{M}(s) \geq M(t) - st$. Therefore, $\liminf_{s \rightarrow 0^+} \tilde{M}(s) \geq \lim_{s \rightarrow 0^+} [M(t) - st] = M(t)$. Since $\sup_{t \in (0, \infty)} M(t) = \infty$, then $\lim_{s \rightarrow 0^+} \tilde{M}(s) = \infty$.

Next let us show that $\lim_{s \rightarrow \infty} \tilde{M}(s) = 0$. Since \tilde{M} is strictly decreasing on $(0, \infty)$ by Step 1, and $\tilde{M}(s) \geq 0$ for all $s \in (0, \infty)$, then there exists $l \geq 0$ such that $\lim_{s \rightarrow \infty} \tilde{M}(s) = l$. From the first inequality in (3.7) we obtain that, for all $s \in (0, \infty)$, $\tilde{M}(s+1) + ((s+1) - s)t_{s+1} \leq \tilde{M}(s)$. Hence $0 < t_{s+1} \leq \tilde{M}(s) - \tilde{M}(s+1)$. Consequently, we get that $\lim_{s \rightarrow \infty} t_{s+1} = 0$. But we have $0 \leq \tilde{M}(s) = M(t_s) - st_s \leq M(t_s)$ for all $s > 0$. Therefore, letting $s \rightarrow \infty$, we get that $0 \leq \limsup_{s \rightarrow \infty} \tilde{M}(s) \leq \lim_{s \rightarrow \infty} M(t_s) = M(0) = 0$. Hence, $\lim_{s \rightarrow \infty} \tilde{M}(s) = 0$. This proves that $\text{Range}(M) = (0, \infty)$, as required, and that ends the proof of the lemma. \square

Corollary 7. *Let M be a strictly increasing continuous function defined on $[0, \infty)$ with $M(0) = 0$ and $M(\infty) = \infty$. For each $s \in (0, \infty)$, let $\tilde{M}(s) = \max_{t \in (0, \infty)} \{M(t) - st\}$ be well defined. If $\alpha, \beta \in (0, \infty)$, then $R_{\alpha, M} \neq \emptyset$ and $R_{\beta, \tilde{M}} \neq \emptyset$. Moreover, if $\mathbf{x} \in R_{\alpha, M}$ and $\mathbf{y} \in R_{\beta, \tilde{M}}$, then we have*

$$(3.9) \quad \Phi_{\alpha, M}(\mathbf{x})\Phi_{\beta, \tilde{M}}(\mathbf{y}) \geq (\alpha - \beta)x_1y_1 - \sum_{i=2}^n x_iy_i.$$

Proof. By the definition of \tilde{M} , we have $t_1t_2 \geq M(t_1) - \tilde{M}(t_2)$, $t_1 \in [0, \infty)$ and $t_2 \in (0, \infty)$. By Lemma 6 we obtain that $R_{\beta, \tilde{M}} \neq \emptyset$. Now applying Theorem 3 (ii) with $M_1 = M$, $M_2 = \tilde{M}$, $\alpha_1 = \alpha$, $\beta_1 = \beta$, $\sigma_1 = 1$ and $\sigma_2 = -1$, we get inequality (3.9) as required.

The following result is part (ii) of Corollary 2 in [6].

Corollary 8. *Let $0 < p < 1$, $(1/p) + (1/q) = 1$. Then for $x_i \geq 0$, $x_1^p \geq \sum_{i=2}^n x_i^p$, $y_i > 0$ and $y_1^q > \sum_{i=2}^n y_i^q$, we have*

$$(3.10) \quad \left(x_1^p - \sum_{i=2}^n x_i^p\right)^{1/p} \left(y_1^q - \sum_{i=2}^n y_i^q\right)^{1/q} \geq x_1y_1 - \sum_{i=2}^n x_iy_i.$$

Proof. Let $M(t) = (t^p/p)$, $t \in [0, \infty)$. Then $\tilde{M}(s) = \sup_{0 < t < \infty} \{M(t) - st\} = s^q/|q|$, $0 < s < \infty$. The conditions on x_i and y_i imply that $(x_1, x_2, \dots, x_n) \in R_{(1/p), M}$ and $(y_1, y_2, \dots, y_n) \in R_{(1/|q|), \tilde{M}}$. Now applying Corollary 7 with $\alpha = (1/p)$ and $\beta = 1/|q|$, we get exactly inequality (3.10), as required. \square

4. A comparison theorem and further inequalities. In this section we present a theorem that will provide a generalization of Theorem 1 in [6]. Moreover, we combine this with Theorem 3 to deduce Bejelica's result [4].

Theorem 9. *Let M_1 and M_2 be two strictly increasing functions from the interval I onto I , where I is either $[0, 1]$ or $(0, 1)$. Suppose that $M_1(t) < M_2(t)$ for all $t \in (0, 1)$. Then we have:*

If $\mathbf{x} \in R_{1, M_2}$ then $\mathbf{x} \in R_{1, M_1}$ and

(i) *If $I = [0, 1]$, then $\Phi_{1, M_2}(\mathbf{x}) \leq \Phi_{1, M_1}(\mathbf{x})$. Equality holds if and only if either $x_i = 0$ for all $i \geq 2$ or $x_{i_0} = x_1$ for some $i_0 \geq 2$ and $x_i = 0$ for all $i \geq 2, i \neq i_0$.*

(ii) *If $I = (0, 1)$, then $\Phi_{1, M_2}(\mathbf{x}) < \Phi_{1, M_1}(\mathbf{x})$.*

Proof. From the conditions on M_1 and M_2 we obtain that if $I = [0, 1]$, then

$$(4.1) \quad M_1(0) = M_2(0) = 0 \quad \text{and} \quad M_1(1) = M_2(1) = 1.$$

Now let $I = [0, 1]$ and let $\mathbf{x} \in R_{1, M_2}$. By (4.1) and since $M_1(t) < M_2(t)$ for all $t \in (0, 1)$, we have

$$(4.2) \quad 0 \leq \left[1 - \sum_{i=2}^n M_2\left(\frac{x_i}{x_1}\right) \right] \leq \left[1 - \sum_{i=2}^n M_1\left(\frac{x_i}{x_1}\right) \right] \leq 1.$$

Note that $(x_i/x_1) \in \text{Domain}(M_2) = \text{Domain}(M_1)$. From (4.2) we obtain that $\mathbf{x} \in R_{1, M_1}$ and, since $M_2^{-1}(t) < M_1^{-1}(t)$ for all $t \in (0, 1)$, $M_2^{-1}(0) = M_1^{-1}(0) = 0$, $M_2^{-1}(1) = M_1^{-1}(1) = 1$ and $M_j^{-1}, j = 1, 2$, is strictly increasing in I , that

$$M_2^{-1} \left[1 - \sum_{i=2}^n M_2\left(\frac{x_i}{x_1}\right) \right] \leq M_1^{-1} \left[1 - \sum_{i=2}^n M_1\left(\frac{x_i}{x_1}\right) \right].$$

Multiplying both sides by x_1 we get that $\Phi_{1,M_2}(\mathbf{x}) \leq \Phi_{1,M_1}(\mathbf{x})$. The proof of (ii) is similar. For the remainder of (i), it is clear that from (4.1), (4.2) and the fact that $M_1(t) < M_2(t)$ for all $t \in (0, 1)$ that equality holds if and only if $(x_i/x_1) = 0$ or 1 for each $i \geq 2$. Since $\mathbf{x} \in R_{1,M_2}$, then $[1 - \sum_{i=2}^n M_2(x_i/x_1)] \in \text{Range}(M_2) = [0, 1]$. Hence, we must have either $(x_i/x_1) = 0$ for all $i \geq 2$ or $(x_{i_0}/x_1) = 1$ for some $i_0 \geq 2$ and $(x_i/x_1) = 0$ for all $i(\neq i_0) \geq 2$. This completes the proof of the theorem.

Remark 1. We note that the inequality $\Phi_{1,M_2}(\mathbf{x}) \leq \Phi_{1,M_1}(\mathbf{x})$ in (i) of Theorem 9 still holds if we replace the assumption $M_1(t) < M_2(t)$ for all $t \in (0, 1)$ by the assumption $M_1(t) \leq M_2(t)$ for all $t \in (0, 1)$.

The following corollary is Theorem 1 in [6].

Corollary 10. *If $0 < p < q$ and $\mathbf{x} \in R_p$, then $\mathbf{x} \in R_q$ and $\phi_p(\mathbf{x}) \leq \phi_q(\mathbf{x})$. Equality holds if and only if $x_2 = \dots = x_n = 0$ or $x_1 = x_s$ for some $s \in \{2, \dots, n\}$ and $x_i = 0$ for $i \in \{2, \dots, n\} \setminus \{s\}$.*

If $p < q < 0$ and $\mathbf{x} \in R_q$, then $\mathbf{x} \in R_p$ and $\phi_p(\mathbf{x}) < \phi_q(\mathbf{x})$.

Proof. Let $0 < p < q$. Let $M_1(t) = t^q$ and $M_2(t) = t^p$, $t \in [0, 1]$. Then $R_q = R_{1,M_1} \cup \{0\}$ and $R_p = R_{1,M_2} \cup \{0\}$. Now apply Theorem 9 (i) to get the required conclusion. Similarly if $p < q < 0$ we take $M_1(t) = t^{-p}$ and $M_2(t) = t^{-q}$, $t \in (0, 1)$, and we apply Theorem 9 (ii).

Corollary 11. *Let M be a strictly increasing function from $[0, 1]$ onto $[0, 1]$ with $M(t) \geq t^2$ for all $t \in (0, 1)$. If $\mathbf{x}, \mathbf{y} \in R_{1,M}$, then $\mathbf{x}, \mathbf{y} \in R_{1,t^2}$ and*

$$\Phi_{1,M}(\mathbf{x})\Phi_{1,M}(\mathbf{y}) \leq \Phi_{1,t^2}(\mathbf{x})\Phi_{1,t^2}(\mathbf{y}) \leq \Phi_{1,t}(\mathbf{xy}),$$

where $\mathbf{xy} = (x_1y_1, \dots, x_ny_n)$.

Proof. The first inequality follows from Theorem 9 and the remark following it by taking $M_1(t) = t^2$ and $M_2 = M$. The second inequality follows from Theorem 3 (i) by taking $m = 2$, $M_1(t) = M_2(t) = t^2$, $\alpha_1 = \alpha_2 = 1$ and $\sigma_1 = \sigma_2 = (1/2)$.

The above corollary is a generalization of Bjelica's result in [4].

As a direct consequence of Corollary 11, we obtain Corollary 3 in [6]:

Corollary 12. *If $0 < p \leq 2$ and $\mathbf{x}, \mathbf{y} \in R_p$, then*

$$\phi_p(\mathbf{x})\phi_p(\mathbf{y}) \leq \phi_2(\mathbf{x})\phi_2(\mathbf{y}) \leq \phi_1(\mathbf{xy}).$$

REFERENCES

1. J. Aczél, *Some general methods in the theory of functional equations in one variable, New applications of functional equations*, Uspekhi. Mat. Nauk **69** (1956), 3–68 (in Russian).
2. R. Adams, *Sobolev spaces*, Academic Press, New York, 1977.
3. R. Bellman, *On an inequality concerning indefinite form*, Amer. Math. Monthly **63** (1956), 108–109.
4. M. Bjelica, *On inequalities for indefinite forms*, Anal. Numér. Théor. Approx. **19** (1990), 105–109.
5. J. Lindenstrauss and L. Tzafriri, *Classical Banach spaces I, Sequence spaces*, Springer-Verlag, New York, 1977.
6. L. Losonczi and Z.P. Áles, *Inequalities for indefinite forms*, J. Math. Anal. Appl. **205** (1997), 148–156.
7. D.S. Mitrinović, J.E. Pečarić and A.M. Fink, *Classical and new inequalities in analysis*, Kluwer Academic Publishers, Dordrecht, 1993.
8. T. Popoviciu, *On an inequality*, Gaz. Math. Fiz. A **64** (1959), 451–461 (in Romanian).
9. P.M. Vasić and J.E. Pečarić, *On the Hölder and some related inequalities*, Mathematica (Cluj) **25** (1982), 95–103.
10. Xie-Hua Sun, *On the generalized Holder inequality*, Soochow J. Math. **23** (1997), 241–252.

DEPARTMENT OF MATHEMATICS, FACULTY OF SCIENCE, P.O. BOX 27272, SHARJAH UNIVERSITY, SHARJAH, UNITED ARAB EMIRATES
E-mail address: fsaidi@hotmail.com

DEPARTMENT OF MATHEMATICS AND COMPUTER SCIENCE, FACULTY OF SCIENCE, P.O. BOX 17551, U.A.E. UNIVERSITY, AL-AIN, UNITED ARAB EMIRATES
E-mail address: rahman@nyx.uaeu.ac.ae